2025-09-26

% KRS754YEKFvY b

Gk =y |

5) MEE RE—NL75vY KA (FAIz=9L)

L |!w[IrITMI“Im'I

E,,%F ‘\.—-ﬂt:g—-‘- e i PR i ——

15

N KA

ORI L 5 DHES LEHD

= | -~
CEREBEVLELET, E£TORR T15] M

EH &5 E FHE RN !

XAERICEROARIE, WRALOI-HFERR - TEEZEEST LN TIVET,

EERXS) O=14KIXTOTEXTHAHT ! @=# - Bl& &R

. ) BERE

X Y HRAS Z22 N I _— Z >~ .

TENo. | o TR 2R = BEE | BEs WFE|RBIERER |

N 2 == > > e w
(HE) ’ N ) (H) | Py |FZMR7 | #7800 S | () |9
(M) (t) (D) (N - m) (KN)

KA-315 0.5-1.5 8.5 500 ASK | @
M3x0.5 5.1 5.0 6.0 05 1.9 2.9

KA-325 1.5-2.5 9.5 500 ¥9240 | @

KA-415 0.5-1.5 10.0 500 ASK | @

KA-425 | M4ax0.7 | 1.5-2.5 6.1 11.0 6.0 7.0 05 3.4 4.0 500 ¥7370 | @

KA-435 2.5-35 12.0 500 ASK | @

KA-515 0.5-1.5 11.0 500 ASK | @

KA-525 | M5x0.8 | 1.5-2.5 7.1 12.0 7.0 8.0 05 7.3 6.4 500 ¥7,700 | @

KA-535 2.5-3.5 13.0 500 ASK | @

KA-625 1.0-2.5 14.0 500 ¥9.680 | @
M6 x 1.0 9.1 9.0 10.0 0.5 13.7 10.8

KA-640 2.5-4.0 15.5 500 ASK | @

KA-825 1.0-2.5 15.5 500 ASK | @
M8 x 1.25 11.1 11.0 12.0 05 25.5 13.7

KA-840 2.5-4.0 17.0 500 ASK | @

KA-1025 1.0-2.5 16.0 500 ASK | @
M10x 1.5 13.1 13.0 14.0 0.5 39.2 15.7

KA-1040 2.5-4.0 17.5 500 ASK | @

[FHc, RREOIEIPFTHELRIEEY Y7V (EEROBS) PHEDIRHLATETT



https://fujirokku.jp/newpage3.html

